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1. (i) %of ; of a number is greater than gof % of the same number by 8. What is half of that
number?

(if) The average weight of A,B,C is 45 kg. If the average weight of A and B be 40 kg and
that of B and C be 43kg. Find the weight of B.

2. (i) One year ago, the ratio of Gaurav's and Sachin's age was 6:7 respectively. Four years
hence, this ratio would become 7:8. How old is Sachin?

(i) If 2x+3y+z=55, x+z-y=4 and y-x+z=12,then what are the values of x, y and z?

3. (i) A grocer purchased 80 kg of sugar at Rs.13.50 per kg and mixed it with 120kg sugar at
Rs.16per kg. At what rate should he sell the mixture to gain 16%?

(i1) A dealer sold three-fourth of his article at a gain of 20% and remaining at a cost price.
Find the gain earned by him at the whole transaction.

4. (i) If 9 engines consume 24 metric tonnes of coal, when each is working 8 hours day, how
much coal will be required for 8 engines, each running 13 hours a day, it being given that 3
engines of former type consume as much as 4 engines of latter type?

(if) A bag contains 50p,25p and 10p coins in the ratio 5:9:4, amounting to Rs.206. Find the
number of coins of each type.

5. (i) While covering a distance of 24 km, a man noticed that after walking for 1 hour and 40
minutes, the distance covered by him was ; of the remaining distance. What was his speed in
metres per second?

(i1) A can do a piece of work in 80 days. He works at it for 10 days and then B alone
finishes the remaining work in 42 days. In how much time will A and B working together,
finish the work?

6. (i) If the compound interest on a certain sum at 16 g% for 3 years is Rs.1270, find the
simple interest on the same sum at the same rate and for the same period.
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